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1 Introduction
1.1 Objectives
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1.2 References
T1-2016-CMS-SRA-1.2
T1-2016-CMS-SDA-1.1
T1-2016-CMS-UTP-1.0

2 Unit test case specification

2.1  Test case specification identifier

Identifier Feature Pass / Fail Criteria
CMS.UTC.1000 HE Y0 Ofs] HEO| s&=X

sfolstct,
CMS.UTC.1000.00 | btn_pressed(&btn_temperature); btn_is_pressed(&btn_te

mperature) = 1

CMS.UTC2000 | MAZ=El Ho|ES Uz gh=rt

CMS.UTC.2000.00 | sensor_update(&sensor_hot_weight, | sensor_get(&sensor_hot_
500); // 50022 &¥et 20 &4l | weight) = 500

CMS.UTC.2000.01 | sensor_update(&sensor_coffee_bean | sensor_get(&sensor_coff
weight, 20); // 2022 473t 20| | ee_bean_weight) = 500

oo n> '
JE | ot

CMS.UTC.3110 = HE0 o5 4 Z2=S004
HO|E{E T E et
CMS.UTC.3110.00 | HIOIHE HEdt= 280|22 HAE SHX| §g
CMS.UTC.3120 TE JHQY 3% FHUE FESL.
CMS.UTC.3120.00 | sensor_update(&sensor_hot_weight, | Now_State =
500); STATE_EXTRACT

sensor_update(&sensor_cup_existen

ce, 1)
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sensor_update(&sensor_coffee_pow
der_weight, 10);
new_state(STATE_EXTRACT);

extract_tick(state);

CMS.UTC.3120.00

sensor_update(&sensor_hot_weight,
500);
sensor_update(&sensor_cup_existen
ce, 0);
sensor_update(&sensor_coffee_pow
der_weight, 10);
new_state(STATE_EXTRACT);

extract_tick(state);

Now_State =
STATE_WAIT

CMS.UTC.3130

Mo NEfQl B9 AL oAS Ha

oL}

CMS.UTC.3130.00

sensor_update(&sensor_hot_weight,
500);
new_state(STATE_CLEAN);

extract_tick(state);

Now_State
STATE_CLEAN

CMS.UTC.3130.01

sensor_update(&sensor_hot_weight,
400);
new_state(STATE_CLEAN);

extract_tick(state);

errormsg = "&0| &%
Lt

CMS.UTC.3140

S5 JHQ Z2 Ao Hulo M=

o o
= o=
£ 3=°%Ht.

CMS.UTC.3140.00

sensor_update(&sensor_hot_weight,
300)

supply_type = 3;

supply_amount = 100;
supply_tick(STATE_SUPPLY);

sensor_get(&sensor_hot_
weight) = 400

CMS.UTC.3150

oo AEfSl B Fm ojAlol oo
o

ML}

CMS.UTC.3150.00

Chast T2 A AODE M QS

CMS.UTC.3160

d
Grind &EiQl AL Hm 32 ZO0t

CMS.UTC.3160.00

sensor_update(&sensor_coffee_bean
_weight, 10);
new_state(STATE_GRIND);
grind_tick(state);

Now_State =
STATE_GRIND
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CMS.UTC.3160.01 | sensor_update(&sensor_coffee_bean | error msg = "AF7} £
_weight, 5); gty
new_state(STATE_GRIND);
grind_tick(state);

CMS.UTC.3170 ALE XA SR CMe| HEHE E O
#E)

CMS.UTC.3170.00 | Ul 7+ ZE2MA0|EE H g

CMS.UTC.3180 CMQ| Next StateE 220} ot
HE 2 AFTIC

CMS.UTC.3180.00 | thegt ZENA0|E2 K 2let

CMS.UTC.3190 07l &Efel 32 XS LA™
2 YHECh

CMS.UTC.3190.00 | Wait_tick(STATE_WAIT) Now_State =

STATE_WAIT

CMS.UTC.3110 Of|ef&l ofefol A M ofefS A X
st

CMS.UTC.3110.00 | Gf2f A[Z+O| S2{0F St= S0t SHUMEE 2SS Z2A
A0|22 F|QE

<Table 1 Test Case Identification>
2.2 Test items

<Table 1 Test Case Identification> X=X

2.3 Input specifications

<Table 1 Test Case Identification> %t

24  Output specifications

A

<Table 1 Test Case Identification> &=

3 Environmental needs

T1-2016-CMS-UTP-1.0 Environmental needs &% &=X

4 Unit test summary report

4.1

Test summary report identifier

Identifier

Feature

Pass / Fail Criteria

Test Result
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CMS.UTC.1000 HE YO g HEOl =FRE=X
golsict.

CMS.UTC.1000.00 | btn_pressed(&btn_temperature); btn_is_pressed(&btn_te

mperature) = 1

CMS.UTC.2000 HMZSEEH HOIHE ¥8 Z=Ct

CMS.UTC.2000.00 | sensor_update(&sensor_hot_weight, | sensor_get(&sensor_hot_ | PASSED
500); // 50022 2%t 20| &€& | weight) = 500

CMS.UTC.2000.01 | sensor_update(&sensor_coffee_bean | sensor_get(&sensor_coff PASSED
_weight, 20); // 2022 A3t 20| | ee_bean_weight) = 500
o

CMS.UTC.3110 e HEO ool 4 Z2=S04
HO|EE T Eetrt

CMS.UTC.3110.00 | HIOIHE HEdt= ZE0|E2 HAE SHX| &5

CMS.UTC.3120 TE JHY 3% FHUE FEoitt

CMS.UTC.3120.00 | sensor_update(&sensor_hot_weight, | Now_State = PASSED
500); STATE_EXTRACT
sensor_update(&sensor_cup_existen
ce, 1);
sensor_update(&sensor_coffee_pow
der_weight, 10);
new_state(STATE_EXTRACT);
extract_tick(state);

CMS.UTC.3120.01 | sensor_update(&sensor_hot_weight, | Now_State = PASSED
500); STATE_WAIT
sensor_update(&sensor_cup_existen
ce, 0);
sensor_update(&sensor_coffee_pow
der_weight, 10);
new_state(STATE_EXTRACT);
extract_tick(state);

CMS.UTC.3130 o JEHIQY 3% O His
oLt

CMS.UTC.3130.00 | sensor_update(&sensor_hot_weight, | Now_State = PASSED
500); STATE_CLEAN
new_state(STATE_CLEAN);
extract_tick(state);

CMS.UTC.3130.01 | sensor_update(&sensor_hot_weight, | error.msg = “20| £& | PASSED
400); rLICt,
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new_state(STATE_CLEAN);

extract_tick(state);

CMS.UTC.3140 S5 JHQ Z2 Ao Hulo M=
£ S

CMS.UTC.3140.00 | sensor_update(&sensor_hot_weight, | sensor_get(&sensor_hot_ | PASSED
300) weight) = 400
supply_type = 3;
supply_amount = 100;
supply_tick(STATE_SUPPLY);

CMS.UTC.3150 ofef SEfCl B2 Aol oo ofef
= 2gzottt

CMS.UTC.3150.00 | reserve_change(CLEAN,"11:11"); S="11:11" PASSED
char *s = reserve_get(CLEAN);

CMS.UTC.3150.01 | reserve_change(MK_COFFEE,"11:11"); | S = “11:11" PASSED
char *s = reserve_get(MK_COFFEE);

CMS.UTC.3160 Grind <EfQl d% 7O I #Of
Lt

CMS.UTC.3160.00 | sensor_update(&sensor_coffee_bean | Now_State = PASSED
_weight, 10); STATE_GRIND
new_state(STATE_GRIND);
grind_tick(state);

CMS.UTC.3160.01 | sensor_update(&sensor_coffee_bean | error msg = "®F7| £ PASSED
_weight, 5); Skt
new_state(STATE_GRIND);
grind_tick(state);

CMS.UTC.3170 AEROIA A cMo| HEHE 2O
=Lt

CMS.UTC.3170.00 | Ul T8 Z=2AM20|22 H 2lgt

CMS.UTC.3180 CM2| Next StateE O} 3{T
MEfE MABICH

CMS.UTC3180.00 | Er&ot Z2MA0|22 Mg

CMS.UTC.3190 7] B 3% XS 2AIHS
2 HELL

CMS.UTC.3190.00 | New_state(STATE_WAIT) Now_State = PASSED
Wait_tick(state) STATE_WAIT

CMS.UTC.3110 OfefE ofefol AS M oS & X
oot

CMS.UTC.3110.00 | time_t rawtime; State=STATE_CLEAN PASSED
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struct tm * timeinfo;

time ( &rawtime );

timeinfo = localtime ( &rawtime );
char buf[256];

strftime(buf, sizeof(buf), "%H:%M",
timeinfo);
reserve_change(CLEAN,buf);
new_state(STATE_RESERVED)

reserved_tick(state)

4.2  Evaluation

Total Test Case : 1474

Passed : 147

Failed : O7H
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